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>1o]lB=2

> Ghela, 10T (h>(pelme HLO e apo) s

Aol 7 (7he] Y Areel st 2t
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ol},

O HA9 K,=

A MO _ HO'T
[HA] e
AT [HO o (_ IATY. (BT
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(7 etatel o238t w3
57HC Ml e HAS| 8ol 4 [H,0'=[A Jolx, [HA]

[A [HO0'] _ [HO0'F

=ColmR HAS| OBt (K )= AT = ¢

°]a [H,0']={CK, °lt}.

o %L HA 9| o]} A(K )olch, ufeta (et
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(=0.1 Mx0.1 L) 3 ¢gHo|ck, (ZhHet (bl Z
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A (aq)+H,0(/) ——HA(aq)+OH (aq)

=5x10 "ot} K,= HA>BH o|=&
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BHA(aq)®| pH= 75t} At

25 °ColAl BH" 9] K,=5x10 "o]al, A 9 K, =

10 met710f ol2st 13
X, A9 ke HAOI,
1 X 10*14

o K.= “olug d7] A9 K, = =
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AJILOY] _ [HO'T

—~ ol o] o o) A — [ —
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=0.050]c}, wehbA xx y=0.005°]c},
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[HONB] _ (1x10"°)°
[HB] 1
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O 7h9 [OH ]=/C'K —/006><—><10 =1x10"°M

K, o 1x10 "
o], (1he] [OH] “ Lo /CK = 0Zx5x10"

N\ www.ebsi.co.kr

=1x10"Me]E= [OH k= (ZhelA7F (LhellA2] 10°ufo]ch,

vof . — INHJHO] o
©. (Dol NH,"¢] K, == olck NH, "] K, =
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CH,COOH (aq)+H,0(!) —— CH,COO (aq)+H.,0"(aq)
A H, O 9] =8 S7IAA B0l dukg £ o o|Fdict,
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X, Oh~(t}) 2% oAb 1 A4d7)e] Bulzl 112 S0 Q=
5 golo|m R (TH~(h) F 25§ 37holh,
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